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dY=Aq[1+A,/A,Y]

X dY, Y
-1.0 0.0311.8
-0.5 0.0545.6
00 0127180
05 0.35956.9
1.0 1.091180
AJlA; = 0.2895

A;=0.0205 A = 0.005!

Richter_D_PO2_022)
(x,y,Y)=(0,33, 0,36, 18)

1,0 X=log[Y/Yyq
180 Y

dY=A1[1+A/A1Y]
SyZdYcieLas/dYinD=6.4
X, dY, Y
-1.0 0.03118
-0.5 0.054 5.6
0.0 0.127 18.0|
0.5 0.359 56.9|
1.0 1.091 180
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Ay =0.0205 A = 0.005
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180 Y
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180
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180 Y
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180 Y
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180 Y
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180 Y
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A;=0.0205 A =0.005
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dY=A4[1+A,/A Y]
SydYcieLas/dYinD=6.4

Xy

-1.0

-0.5

0.0

0.5

1.0

A,JA; = 0.2895
A, =0.0205 A= 0.005

Richter_D_P0O2_022S))
(x,,Y)=(0,33, 0,36, 18)
1,0 X.=log[Y/Yy4]
180 Y
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180 Y

dY=A4[1+A,/A1Y]
Sy dYcieLag/dYinD=6.4
X dY, Y
-1.0 0.031 18
-0.5 0.054 56
0.0 0.127 18.0
0.5 0.359 56.9)
1.0 1.091 180
AJJA; = 0.2895
Ay =0.0205 A =0.005
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180 Y

dY=A4[1+A,/A Y]
Sy=dYcieLae/dYinp=6.4
Y
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180 Y
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dY=Aq[1+A,/A,Y]

X dY, Y
-1.0 003 1.8
-0.5 0.0555.6
0.0 0.13318.0
05 0.38256.9
10 117 180
AJlA; = 0.3405
A;=0.0187 A = 0.006
A3=10 A=10
Richter_D_PO2_066S»
(x,y.Y)=(0,33, 0,36, 18)

1,0 x=log[Y/Y.d

dY=A1[1+A/A1Y]

9YciELAB/dYiND=6.1
I A

-1.0 0.03 18

-0.5 0.055 5.6

0.0 0.133 18.0|

0.5 0.382 56.9|

1.0 1.17 180

AjJA; = 0.3405

A, =0.0187 A =0.006,
A3=10 A,=10

Richter_D_PO2_066S)

(xy,Y)=(0,33, 0,36, 18)

1,0 x=log[Y/Y.d
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4YciELAB/dYiND=6.1
)
1.8
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A3=10 A=10
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(x.y,Y)=(0,33, 0,36, 18)|

1,0 X=log[Y/Yyq
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180 Y
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x,=log[Y]
180 Y

dY=A4[1+A,/A Y]
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1.0 117 225
AJJA; = 0.3405
A, =0.0187 A =0.006
A3=10 A=10
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1,0 x=log[Y/Y.q

dY=A,[1+A,/A,Y]
#9YcieLAB/dYinD=6.1
)
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y X
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A;=0.0187 A =0.006
A3=10 A,=10
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(xy,Y)=(0,33, 0,36, 18)
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180 Y
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dY=A4[1+A,/A1Y]
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X dY, Y
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0.0 0.133 18.0
0.5 0.382 56.9)
1.0 1.17 180
AJJA; = 0.3405
Ay =0.0187 A= 0.006
A3=10 A,=10
Richter_D_P0O2_066S)
(xy.Y)=(0:33, 0,36, 18)

0,5 1,0 x=log[Y/Y;q
90 180 Y
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Richter_D_PO2_066S))
(x,y,Y)=(0,33, 0,36, 18)
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Tfur unbunte Farben
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Xy dY, logY
-1.0 0.03 0.25
-0.5 0.0550.75
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Richter_D_PO2_066S)|
(x,y,Y)=(0,33, 0,36, 18)

2,25 x,=log[Y]
180 Y

dY=A1[1+A,/A1Y]
Sy dYcieLap/dYinp=6.1
Xy dY, logY
-1.0 0.03 ©.25)
—0.5 0.055 0.75)
0.0 0.133 1.25)
0.5 0.382 1.75
1.0 117 225
A,JA; = 0.3405
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Richter_D_PO2_066S)
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1,0 x=log[Y/Yyq
180 Y
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dY=Aq[1+A /A ;Y]

log [d, ] ! ! Jidy

0,0 Tfiir unbunte Farben 4 X dYy Y fur unbunte Farben 4 2 0 Tfiir unbunte Farben X dYy Y
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180 Y
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e y
¢ | 18
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180 Y
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Xy dY, logY]|
-1.0 0.0330.2%
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180 Y

dY=A4[1+A,/A Y]
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180 Y
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